Calculus 1 — Final Exam Name: Saud Oc aw
MAT 250, Spring 2024 — D. Ivansié Show all your work!

1. (16pts) Use the graph of the function to answer the following. Justify your answer if a
limit does not exist.
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List points where f iz not continuous and
explain why.
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Find the following limits algebraically. Do not use L'Hospital’s rule.
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4. (8pts) Find l_jf.‘;h VT (2 sin = 3). Use the theorem that rhymes with what a forest

consists of.
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5. (10pts) Write the equation of the tangent line to the curve y = z%¢* at point (-1, ).
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6. (12pts) The graph of f is given. Use it to draw the graphs of f’ and f” in the coordinate
systems provided. Pay attention to increasingness, decreasingness and concavity of f. The
relevant special points have been highlighted.

I

y=fix)




7. (26pts) Let f(z) = Igi 1; The domain of this function is all real numbers (you do not

have to verify this). Draw an accurate graph of f by following the guidelines.
a) Find the intervals of increase and decrease, and local extremes.

b) Find the intervals of concavity and points of inflection.

c¢) Find .—l:h—'ﬂ f(z) and :E'Eﬂm Flz).

d) Use information from a)-c) to sketch the graph.
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8. (12pts) Let f(#) = cos*8 — sinf. Find the absolute minimum and maximum values of

f on the interval [0, 3
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9. (6pts) Find f(z) if f'(z) = 3sec*z + cosz and f(3) = -2.
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10. (10pts) Consider the integral [ vz — 1dz.

0
a) Use a picture and the “area” interpretation of the integral to determine whether this
integral is positive or negative.
b) Use the Evaluation Theorem to find the integral and verify your conclusion from a).
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11. (10pts) The rate at which temperature in an oven is changing is -i’?_t- + 2 degrees

Fahrenheit per minute.
a) Use the Net Change Theorem to find how much temperature changed fromt =1tot =8

minutes.
b) If at time ¢ = 1 minutes the temperature in the oven was 170°F, what is the temperature
at t = 8 minutes?
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12. (12pts) A light source is approaching a 4-meter pole that stands 5 meters in front of a
tall wall. If the light source is moving at rate 1 meters per second when it is 2 meters from
the pole, how fast is the shadow of the pole on the wall growing at that moment? Hint:
similar triangles.

kK weww }{15"1 Need:, 4 whee =2

‘C S |"vu[ & 'I‘H' l.r\"'ca-_ff_{—ln ..
9§ 5 }.ﬁ ; P P l 5
R S -_{__ _ % L:I n ?q
g '}{ }"‘-'E'




13. (16pts) Among all rectangles with area 20, find the one with the smallest perimeter.

o - W0 .
J ?:va:if P=larly= 24+ 13 = 0+ ¥
1' ¥
— _;; T JoL s harina B€ Pltyz 22+ ;.[-j mi_({JJF)
40 ' sao?
P?J{J: ?"_ ;'-”L P!T-H'?'* (Q-—cﬁ:’; )
g".}
P;!"J'F :U g ?r{"r]' DFE‘ j - 3‘0{‘? = ;"3
{ 1o , ootk N -
)48 - e Pl 22,50
- =0 =
X fqiﬁa AJ_ }".‘_ﬁﬂ
2= iﬁ 120 Je fnnﬁ b
J‘ﬂ’ i \.'Irq_.l’-'-'" .{l“"-{‘? H- .:]. - I‘_thﬂl”i_e
?{L: s Lt gy e TJ
j(u:'—'“ Q{j ‘mﬁ —_— fk\"’i—}\fﬁr‘f J¢+‘

Bonus. (10pts) Draw the graph of a function that is defined for all real numbers that
satisfies:

f(-1)=-3, f(2)=1 - =~
f'(z) > 0 for all z in (—1,2) } et
f'(z) < 0 for all z in (—oco,—1) and (2, o) _f1 — 0 + DE —
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f"(z) > 0 for all z in (—o0,2) and (2, 3)
f"(z) < 0 for all z in (3, 00)




